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$include <stdio.h>
$include <stdlib.h>

int main()

3
int days, years, weeks:
printf{"Enter daye: ");
r, 10 scanf ("&d", s&days); I
y=sars = (days :
weeks = (days % =) 7 e
days = days - [((years -~ 3) + (weeks < 7))
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S Printf (TYEARS: %d\n", years);
Cprintf("NEERS: 3d\n", weeks);
; ' an

ntfi"DAYS: 3



ned © (8x0) execution time : 11.205 <

ey T0 continue.




$include <stdio.h>
$include <stdlib.h>

int main{()
{

float x1, yl, x2, yz gdlstance.

prlntf(“lnput Xi:
scanf ("$f", &xl);
printf("lnput ¥i:
scanf ("sf", svyl):;

printf("Input . 74
scanf ("$£", &x2):;

printf("Input y2: ").: I

*

scanf ("&£", sy2):

gdistance = ((x2-x X1)* (X2-%1))+((y2-yl)*(y2-y1)):

"w
,n._ptintf(”nlstanc= between the said points: §.4f£", sqrt(gdistance)*a
oprintf(”\n"); | "w;mvmknﬂ\'
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$include <stdio.h>
#include <stdlib.h>

int main()
{

int age:;

int cnt_baby=0, cnt

_School=0, cnt_adult=9;
int count=0;

N WO YO-dJnne Wi -~

1 while (count<20) I
) | g
< 1
1 printf("Enter age of person [%d4]: ", count+l)
1 scanf ("$d4d", zage) ;
1 if(age>=0 zs age<=4)
1 cnt_baby++;
17 else if(age =5 g5 age<=17)
18 cnt_scChool++;
19 else
20 cnt_adult++;
-4
25
c printf(“Ba age n",cnt_baby
7 princt | * i age: § Tyont_school
printf(“Adult age: §4\n",ont aduls
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$include <stdio.h>
$include <stdlib.n>

int main()
{

rioat x, Vv, 2, P, A:
printf("\nInput the first number: "):
scanf ("$£", &x):
printf ("\nInput the
scanf ("$£f", ay):

printf("\nInput the number: ");
scanf ("8%£", &z):
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second numberI o -

if(x < (y+2) sa vy (+2) && < (y+x))
P = X+yY+2Z;
printf("\nPerimet

.
3
.

6lse

printf(“Not possible to create a trdangleyotmii
} |
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NPpUt X1: /8

LNput '.»'/1: 49
input x2: 120
input y2: 80

)istance between the said points: 58.0000

rocess returned @ (0x@) execution time : 34.383 <
‘ress any key to continue.
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[nput the first number: 4

nput the second number: 5

nput the third number: 6 ﬂ, .
~

erimeter = 15.0 .

rocess returned O (©0x0) execution time : 5.912 s *F

ress any key to continue.




tnter age of
Enter age of
Enter age of

'roces
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" person

person
person
person
person
person
person
person
person
person

person
person
person
person
person
person
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S returned o (0x0)
'S any key to continue,
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12
18
19
20
39

11
12
90
56
10

70
45
33
50

execution time : 61.428 ¢
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$include <stdio.h>
$include <satdlib.h>

int main()
int random_ genNo=iU, count=_, num;
int stime;
long ltime:

MIRIARGARS. JbAad with 3 i T on every run
ltime = time (NULL):
stime = (unsigned) ltime/2:
srandi{stine) I

- e

> Candonm number

zandoz._géﬁh!o=:and () 3100

ol 2 D R
4=nss

while (o)

count+=.;

printf{"\n\nGuess a number from (0 o 100): ")

scanf ("%¥d", snum);

if random_genNo==num] |
printf ("Congratuiations, you have guessed a forrect number
break

else ifirandom_genlio  num |
printf(“Generated number i less Shain entered numbes, &y yous luck agaszn

elze if random_genio num :
crinef "Genecaved number i greater than entered pumber, =TIy FOUF “uck

again

ificount== : & il RRPL Sy
prantf e nf8s Manamis Simat 2% ATSSANBR finssned, BAd LULGH n
break

returo
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suess a number from (0 to 100): 4
senerated number is greater than entered number, try your luck ag

wess a number from (@ to 100): 70 "
senerated number is less than entered number, try your luck again

wess a number from (@ to 100): 45

Uess a number from (@ to 100): 59
enerated number is greater than entered number, try your luck age




